
Torf do usunięcia na gł. 1,0 m: P=45,0*8,0
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PLAN  SYTUACYJNY

DROGA POŻAROWA NR 21

RYS. 1.1

SKALA 1:500
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PRZEPUST - 3

l=10.5m, Ø=400mm

Współrzędne wlotu:   X:5914451.47   Y:6456111.56

Współrzędne wylotu: X:5914444.28   Y:6456119.20

PRZEPUST - 2

l=7.00m; Ø=600mm

Współrzedne wlotu:  X:5914612.69  Y:6456213.73

Współrzędne wylotu:X:5914609.01  Y:6456219.68

POCZATEK  ROWU - STRONA  PRAWA

Współrzędne:

X:5914681.35  Y:6456305.44

Rzędna dna rowu: 121.30

KONIEC   ROWU - STRONA  LEWA

Współrzędne:
X:5914704.84  Y:6456247.05

Rzędna dna rowu: 121.70

KONIEC  ROWU - STRONA  PRAWA

Współrzędne:
X:5914674.81  Y:6456301.85

Rzędna dna rowu: 121.30

POCZĄTEK   ROWU - STRONA  PRAWA

Współrzędne: X=5914435.91  Y=6456121.17

Rzędna dna rowu: 120.56

POCZĄTEK   ROWU - STRONA  LEWA

Współrzędne: X=5914452.24  Y=6456103.91

Rzędna dna rowu: 120.86

POCZATEK  ROWU - STRONA  LEWA

Współrzędne:

X:5914733.21  Y:6456301.72

Rzędna dna rowu: 121.90

21

POCZĄTEK BUDOWY: 0+006,17

X:5914443.35; Y:6456113.30

Km PP = 0+269.51

Wsp.N = 5914667.4274

Wsp.E = 6456251.6376

R = 300.0

L = 42.66

 = 8.15
Styczna = 21.4

Sieczna = 0.76
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dwudzielna rura osłonowa:
L=62,5 m
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